IR-MBO04 Metal Bracket (Vertical Type)

Composition (IR-MB04) How to mount

Screw M2.0 X 4
(Flat Head ) : 2EA

Spring Washer M2.5 (7
: 1EA

Screw M2.5X 5 Lﬁ/ S
(P Head) : 1EA q I
Nut M3.0 : 2EA
Socket Bolt M3.0 X 8

: 2EA (For Bracket Plate)

Vertical Bracket Plate
: 1EA
Vertical Bracket Lower )
: 1EA

s

\
M2.5 x'L5-Sefew

Make sure to use M2.5 spring washer to prevent damage.

[Bottom Side Mounting] [Front Side Mounting]

2pcs of M3.0 x 8 Bolts are for Bracket plate. Apply
4pcs of proper M3.0 screws at your end according to
your condition.

Proper space must be secured to avoid the protruding
bolt head in the front of the actuator.

Thank you for your attention.





